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Vout

Z1 1) Vout’” =-A%Vin
[ 1 -~ 2) Vout = Vout’ +Vn
v A (Vo) 3) Vin/Z1+(Vin-Vout) /22=0
4
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Vout = Vn/ (1+ px*A)
Vout” = —VnxpxA /(1+ pxA)
. . w=Z1/(Z1+Z2) . feed-back ratio
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—— 1) Vout= —A%Vin

2) Vin = \Vn + Vin

Z1 3) Vin" /Z1 +(Vin’ -Vout) /Z2=0
] --
\Y4 A
++
" Y y Vout = A%Vn/ (1+u*A)

Vin out w=Z7Z1/(Z1+Z2) - feed-back ratio
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MREYIDEFICIER, K<HMBNTWLS&KSIC Vout = Vnx (1+72/71)

<:| = Vn* (1/i oCf) i o (CF+Cg+Cd)
in"2 = Vn"2*w” 2% (Cf+Cg+Cd) "2
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I I 1) Vout/Z3 +(Vout-Vin' )/Z2+gm*Vin = 0
2) Vin = Vn + Vin

Z1 ~ 23 3) Vin® /Z1 +(Vin’” -Vout) /Z2=0
Q; / gm

Vin’ Vout
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Vout = “A*Vin
Z2

Vi
" — Vin/Z1 + (Vin-Vout)/Z2 = i,
Z1
E— -
V A Vout = — i *Z2%A*p/(A*m+1)
@ t u=z21/(Z1+22)

Vout HID~_— T,
Vout = AxVn/ (1+uxA)
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Vn =i %(Z1//22) = —i Z2
EOREESERHE, VnEEOBE n = HZ1//Z2) = S
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75\(%6;&75\]3 75\60 Vou_t - _ in *ZZ*H*A /(1+H*A)
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1) BIDAR—T OVoutlIERBIKFEZFE=ELDT,
ZTDFEFFHBEENZRNIDERERBRLTLES CLITERELTLESLY,

2) £53FV>TH, EREBOHHBOAHERCISE>T
A =A0/ (1+iw*CL/gm) D & S EHHFIRELHLNESD T, AOBFR+REFFTHLHZ &
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Vout/Z3 + (Vout-Vin)/Z2 + gm*Vin=0

,_ZL‘ Vin/Z1+(Vin—Vout)/Z2 —i_=0
| I |
I Z1
-- Z3
v v e
Vin =
¢ v

y Vout = —i ¥Z2%(A-23/Z2)*u/{(A-Z23/Z2)*p +1 +Z3/22}
out

A=gm*Z3
u=21/(21+22)
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Vout/Z3 + (Vout-Vin)/Z2 + gm*Vin= i,

%g - Vin/Z1+(Vin—Vout)/Z2 =0

Vin J; @ I 73 Vout =i *Z3/{ (A-23/Z2)*p +1+23/Z2}
€7 =i, *Z3%n2/{ (A-Z3/Z2)y*u1*u2 +1}
\V4 A=gmx*Z3

wl=21/(Z21+22)
12=23/(23+22)
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